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Intro

The need for
Today we will 7”va learn i 97 of Mesechte Y evamos.
Some of the topics we will learn about today include: h’ i}

A continuation of the discussion regarding the need for to teach the mox
5 to teach the mo'R of performing ma» with an . .
Why would it not be understood anyway, based on Of P er orming gia"
various teachings and Torah principles? with anany

Some of the key topics and concepts that we will learn
about include:

P DRV

The Torah states:

VIT AW 1IHD RIN D W)

2777 7Y RPVI1IWa 50 IR 073 YA

RN»7IRTH one who has a seminal emission, a *7p Sva

P NRPIO

Do mao 19an REM D PN
becomes XY and must immerse himselfin a Mikva 7ﬂ‘fp: B: N kg ?ﬂﬂ,

during the day to purify himself, and then at nightfall,
wnw 177, he becomes completely Tahor.

=ps = Nt
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So let's review.....

The Gemara continues the discussion of finding an
answer to the following question: Why do we need > to
teach that an m7p is 1oR for m27? Why would we think
that it's 9nm? After all we have concluded

N7312 VW YYD R AMT WY PR?

On the previous Daf, the Gemara suggested the first of
three answers:

PINUR INURT PRI

Since we are already 7n» the Wo°R of IR NWN in order to
perform the Mitzvah of 012”2, we would be 71 the :1o°x of
TWR NN as well.

However, the Gemara in this Daf explains that the
Halachah of

MINWR INWRT PRIN

Applies only in a case where

12127 Y RN -

The first "o°x was already lifted before the second 7o'
came into effect.

DafHachaim.org

Why do we need
o
to teach that an ervah is moR

forma»?

20 & o1 D

o

N2 /P

1
MPAN NNT 9N

Since we are already 1nmn
R NWR

X

Only applies in a case where

11739237 Y R1TNT

The first o

was already lifted.. ~4%f2r® .the second wo
came into effect
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A7 MRt
. As in the case of y3», where *»1w D3, on the morning of
the eighth day he was already
1297 12 R27D AIRT RV YW RY? Ay in the case 0%
In a time frame fit to bring his Korbonos, and Y2/ j//
mnnad YT ©In% AN
Permitted to extend his hands into the Azara despite the
VM3 PR - and then _ INPYW 9
D212 AR - he became v during the day; T T EE T AT PR EE P AP IO
Only then do we say
MNWR MINWRI DNRIN P NIRM RN NYW2I RN
Since the first MR, that of Yx» NRMV became Imn for o212 1292 N2 8205 XY
the purpose of bringing his Korbonos, the second Issur of
»p NR also becomes 1M, and it does NOT prevent him INVR) RN mn
from munad »7 oo YIMVR »T> 02009
However, "»nw 53, on the night of the eighth day he was mnn3’
not yet

290 172 XD IR RTW 7Yywa KX, and therefore, he was
1stilll DY 5
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII'IIIIIIIII

M5 PP 0391 MOR because of VIR NIRHIV -
And if »pw Y52 P 187, he became Ridw during the night -

we do not say 1R KD 1P IR RNW NYW2 XY RY
MINVRI PRI MWHWY 2 129P N2 X221 IR

MNWR NWRI PRIA, because the first Issur had not yet MINOR

become m» when the second Issur took effect - and he noR

remains mnnad Y7 017 NOR. ToN P> 091979

172 D2DNY mnnay

. mnnay

Similarly by 012», we would only say *InwR InwRT »Rin

ina case of
M RWI 72 INR) 712 1D RW) S W%, ég,
SoIR”
92 NN N Rw)
Reuvane, the Yv3, first married Sarah, and she became mox M RW)

to his brother Shimon because of IR NWN.

p Y % niv

o 2/9,

When Reuvane died, she fell to Shimon the 02’ for o127,
and the Issur nX WK became IMn.
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. Before performing 012, Shimon married Sarah'’s sister

Rivka - which now makes Sarah the Yevama nwr nminx.
In this case, ]1””\,.’
.~ -

POPAT Y RIAT -
Since at one point she was permitted for o1 -
Therefore, based on nwR INWRT »Rin we would say;
MR NUR NOR INWVRT 0D Warried npnj
TOR MAR TR 13 "INWN

; re IR 4
Since the first MoK, that of X WX became M for the bﬁl& 4 kbt
purpose of 011", the second Issur of nwx mnX also Il Nt
becomes 1M, and it does NOT prevent him from
performing oa».

1729937 Y RITNT

The Gemara concludes that indeed, it is for this case only
that we need 75p to teach that nevertheless, she is 710K for
D12” because of the Issur of INWR MINX.

For this case only we need 21"193)
to teach that nevertheless,
she is ox for aiam

However, in a case of
. MRWITDINNRININ R N RWI

Reuvane married Sarah, .
/L/OW@{/W, WWWU% .

P L. nn kW
N RV T RN

PnY 129

S

S
4 N

.4
iy 2ok

P NN nn RW)
M RW) LT RN

Shimon then married the sister Rivka
before Reuven died

nY 127

S

S
NP2 A nv

bl

£
Il INE
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Mishkan
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q before Reuvane even married Sarah -

555 15 RTPR RS

The 72 never became permitted for 011” when Reuvane
died -

Then we do not say InwR INWRI 2R, because the first
Mo of X NWK had not yet become n when the second
Issur of i1nWR MNR took effect - and she remains MON for
D1,

Therefore, in this case we do NOT need 75 to teach that
she is Mor for oa».

It must be pointed out that of the 1w mwy win
mentioned in the Mishnah, in most cases the »2’ is
already an my before Syan nron.

We need mby only in cases where the 2’ becomes an
M after 537 N,

This is the first of three explanations of why we need 5.

PynY 127

NP2

N RW
nn RWI O'NXY

oY

<

1287
S

b
NP2 A niv

Pt~ /=

V2 C’f /’/ a3

N XRW1
nn XRwW1 5"NR)

oY

s

127
S

S
NP2 a nv

/4
&
/N

A7 MRt
- and certainly where
1 RWI YNNI N RV N RW) 92 IR nn Rwl
Shimon married Rivka N RWIO"NNY M RW) D RN

PnY 129

»
\\

S
NP2 A N

Y/
&
V7] C,’Zf,/?/ )

99 NN,
N RWI

nn RW)
LD R,

wny 129

s

b
NP2 A N

Al
0
O IPE

nn RwWI
LN R

95 NN
N R

Ny 121X

«»
LS

b Y
npad R

/7,1',,{15’»&’
Z/)({éi/’//’t

555 N RTNIR RY

We do not say
MINWR INWKRI PIRIN

In this case we do NOT need h":‘f)
to teach that she is MOR for 0127

DafHachaim.org
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Two:

NI 72970 RWPNA RDR RN TPV R

The Pasuk at the conclusion of the Parsha of Arayos in
Parshas Kedoshim says;

793 ORI MANINT 931 WY TWR D37 -

Rebbe Yonah taught that this is a wp’n which compares all
NI ON to one another.

Based on this wp'n we would say;

I DI NP 53 AR RV MR DUR 7D

Just as NX NWN becomes M for 317, so too might all
other M"Y become m» for ma»? Therefore, Xy 20>
75, to teach otherwise, that \nwR MR is TOR for ma».
We then turn around and use this very w11 to teach that
like 1nwR MnR, all N are MR for o117

The Gemara explains that we compare all other Ny to
MWK MNR rather than to NR NWK for two reasons:

_] -

RN ROPH

POPL RIS

When a wp’n1 can go both ways, we use it Xwnb rather
than X975,

_2_

NO’R "IN NRIT

"D N RO

o> N M

In the case of 127, all MY are similar to ynwWX MR in that
they present two 0170’ to the 02’ - that of nX NWK, and
INWR MINR.

RNOR K71 RITYIR

0% RS XTI M

In a simple case of o127, there is only one 770N, that of nwR
PR,

A third explanation for w5 is as follows:

IR NI

NI R RO MW

NI212 W AWYN R AT A0 PRI

77X 905 RIP PIVIR D

Rava maintains, that the word 5 is indeed not necessary
to teach that an may is 7o for 27, because it is
understood based on the principle of

NI212 0w FwYN R AT A0 PR

NI RPN
M Y2990 RYPPYI2 NN

DOWITP NWID
Compares all =gy = ba 7o

Y Ok HoxS bnil=izglaral Lo
o one ancther .
b=y

R IR N 7
1 e A 5o A
>

h”:}) N11M 203

ty teackh
G it b asbur

We compare all other nnmy
to INWR NMNR
rather than to PR NWR

/ar two readonsd:

2 1

YNOR 2N RN RO
YNOMR 1IN RIM RIDIM
192NN MM PWPN RIDND

AN N29
NP Novx¥ 8O My
D922 ¥ Avyn 85 e Ay NI
Y oMb NP REN D

MY is assur for m2»
because

nMT NYY PR
N7 12 WY NWYN XY
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However, after some discussion, Rava explains:

The Posuk in full reads;

mPN RS MR O ORI

712 Y Ay M NI

The word 71735 indicates MMOR 1w, both the TwR MNR
and the 773 are forbidden, because 71735 implies plural -
they each become a 7% for the other.

The words nmy mb® indicate nmn ANA%) AMOR X7, the
7wR MR is forbidden, but the 793 is permitted, because it
is written in the singular.

How do we reconcile the two?

N1201, logically, we would say that mmox j7nwisina
case of mx» op»a K5w, where there is no 02 MMM, hence
no reason to be lenient - And NI AN AMOR NI isina
case of mz» oipn3, where 02 NnsH is areason to allow
the 02’ to marry the 77x.

Therefore, we need the 75v 5y mw nia to teach us
RPORT R 75D Do

RV 775D D ROW

Itis actually the reverse:

mIn DIPHI

MYOR PN

In a o127 situation even the 793 is Assur - And

MRH DIPI ROV

NN ANIX) IMOR K7

In a non-Yibum situation the 793 is 9n.

Dedicated By:
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Ravar

the Posuke:

friom N5 e BN
g
S moib
T

Y
mMONR

N7OR RN
Danmn NI

PP RO o\pn2
Mmxn s
M g resgon P.MWZ/

tf be lensent tybe lendent

%Y mpn2
RIORT RN

1YY mpn2 RHY
3 1D)
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The Gemara cites a Braisa where Rebbe derives this
Halachah from another Posuk:

DI IR NORY 712 B2 PP AP IR 729

The Posuk regarding oa» says;

71021 TR 1D NP OV R 0D

The b2 shall take the nn2’ in D27,

By saying nnp5 rather than np%, the Torah meant to
stress, as Rashi says, nInx 8911, he shall take HER and not
the other one. Simply understood, this means that he shall
take only a regular 72’ who is NOT an imay, but not a ina
who IS an mny. However, as explained earlier according
to Rava, we don't need a Posuk to teach us that an 7y is
T1oR for 0127, because it is understood based on the
principle of

11212 VW AWYN RY AT WY PR?

Therefore, we must say that this Posuk teaches that n93
MY is also MoR for o1, How? Since Anp means, one
and not the other, the Torah is teaching;

PRSI0 RYRTROT DI

R 201 Y °R) IR 20 VA ORT

W

RN

PPORIIN

Where both mn2’ are permitted, he chooses one of the
two. Where he does not have the option to take either one
- because one of them is an Ervah - they are both forbid-
den - even the 3.

Now, by saying nn27 rather than b7 the Torah teaches;
mRH PRI

MR PNY

MEH DIPHI ROV

NIMH NNIXI ANOR R

This Halachah that m7p 093 is 7oX applies only in a 011”
situation - but in a non-Yibum situation the 77y of course
is 7R, but the 77 nIx is M.

The Gemara further explains this Posuk:

71021 TR 15 AP OV R 0D

The omom, who learn the 110°% of 7Y N8 from Hy,
derive the following Halachos from the words mnan nnpH.
TV VI TVVHY THOB NP

The word nnp5 teaches that after 012 she is like a regular
wife who can be divorced by a v), and she does not require
nx5n. Also, after the 03, he may re-marry her - as Rashi
explains, we do not say that the nX nwx MoKk remains, but
rather the R nwR Mo'R is nullified forever.

Rebbe will derive these Halachos from the word nwrb.
The Chachamim learn from 7127 that even if the b2
performed Yibum nn12 53, without the consent of the
nn, itis effective, and she becomes his wife 727525
Rebbe will derive this Halachah from 5y X2 .

The Gemara on the next Daf will explain what Rebbe
learns from the mw 771 of
oY .

DafHachaim.org

P

MR BN AP ARYY AN 02
nMPY N ONY

*-:’:xng. =
i R e tra id Felel)
it

3)/)/’)[ /)/’)[

DN PR

HIH HN 1t

NIND DIPN2
Not ama who IS anany

MIOR NP NY
MmN DIPN2 ROW '

nTMOR XN )
) b
NP NI It i understood based on
VYN XY aniT avy I'X
Mo1IvvY

This Posuk teaches
Y n2S
i also /0t /or RIS
PMPY 2N RIRT RN 9
INN 2701 72 N1 RN 2701 7Y WRT
RMY
PIOR NMIN - RY W)

According to the: ppion...

= SN 1D e T N e

Yibum ™myn NUX
Yva avimvy of

13 vl Y

is effective a1mni iy

Rebbe Rebbe
derives thiss /MVW derives thity
3),/7 A DM %mm 5)@6’/
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As part of this discussion the Gemara earlier taught the
following Halachah:

In the Posuk

mpN RS MR R ORI

N2 75D AIIY MO MIsH

The word 7°na teaches a Halachah unique to 7wx mnx
naw 5o

I MRS WL

After the death of his wife, he May marry her sister.
However,

7w b

TURNIT VR

As long as his wife is alive - even though they are
divorced - He may NOT marry her sister.

DafHachaim.org
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